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[Ca\= % [a)-%
o ==

32. 10g121 ].1 =2

|‘ x \ x \ wx ) ¥,
T = 927 Z = 32 R = B (2)
7> x x 7
3 \ S 2 / 2
'ﬁl - {_3) 2 = (9) “7.,| = (_?) 1) 7(]’!)
\ ix | sx | & / i zx
3 =23 2 =2 g = 3 b= N
.L: x ifgx \"-'_2;‘”' = 2%
3 3 ;A 5 - b
SE X [ . Sl=x ()=~
= (;31’"‘" =) e
4@
Pz 2oL
OF Ko
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Evaluate each expression.

logy 3125 = | 34. log; 512 =x
1 1

1 &
8 3
x x xz
3129 L% - e AP L = = it
— \_S \,xl &‘ \.3;
o -n% x
TVES = f:') 511 :(8) ,«_Lwl‘: 1)
- L R L_S/ \1/
5 - 3 -z
§ =5 g - B [4] = % 3=-%
, EE-E y TER
5 = —X% = =&
m':. xX 3| = x
— \‘_l
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Solve each equation. el idalad! 0 JS | ;i
4 3
1. loggx =7 2. logigx =7
S
% = 3 ’ - 1L b
2 =11k - (3
\-_-_- | —
3 5 1
8. logg x =7 9. logys x =5 10. logg 5 = x
= S %
» - Rl - Y T ,l.z_ - g
2 (22 ~ = [3128 ) % wf_f\)x
| = | ==
>
-\ - 31,
B = g
1. log, o = 12. logy32 = 2 » 713. logs27 =3
- 1086 36 + 108x L2 g N E Ex 1.2 P Jj"
| > gz' /_‘?,7\-—(1.1/,) ‘_'):3\—}‘ (7_;)
36 % / / hY rd
. = m— o M m: =3
" BB L4 A
g Ll_;-?_—. Al
[2l= x
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o bk " " . . . P\ (1-4)
8 |yl gll Holgs pludiwb lgasd 3y Byguo Jawdd pladl Jogxi / 384
6-3 (12-17)+(19-22)
L e Lo s U8 050 Iog4Q=( 1.1610)y log,, 3 (79}.&“:

1. log, 18 ?\o:\) % 2. log,d5)

_ 1,,3‘1.{_1}{ 1;(3) _g}_l._.au - \o:\{‘(ExS)

= '\0:\-]") i \a:}:; 7 la%ﬁg ).. 12{_) —— Iga*'z. R |n.:.lf5-

= 0.8 . 63N . » 4928 :D _a '‘Badome bilig == P \.9525|

\] L] 1 L_‘I — T %
= (2 .0%S)
5 3
3. logy37)+ 4. logy -
= \oe § loa 2 = a3 _ loaly
b ul’t « e

= l.}J6lo — o.392% a - WAIEN o B
= 0 6: 38TS) |

e | S—

o i) Ay e i JS dead 330 log, 5 = 1.1610 4 Jdog, 2 =(0.5) log, 3 z@?%%ﬁiﬁ.«l

2
12) log, 30 13) log, 20 14) log, : *
Ane (2w 3%S) = \oa (L xS) = lea 2l lags3
Y dq, UL‘ Jy
- = \aal, o loa § - 0.S D-39%2¢€
e e -
5 . \ “ Y
= 08 ., 2235 Lk - [ 1410 - (Ce-2919)
T A\ = A
- [2.4838) - f?-ILlD]
R .~ ——
4 Lol
15) log, 5 16) log, 9 17) log, OK10,
3 "POI._‘:
= loal _ logq 3 L tea (3D |-lsa 3 = las 2 = g
al - 1y oG Lles ©F2
- | — o.39925 - 1093 4loa3 =2 lon3 - 3 leg 2 ki
UL( ‘ " u"l' — 4
-/ o 2025) - 01925 2% =2 (0.7925) | =3 (0-5)
\-___-___________. = ~ L - LY # 7
=[1.¢45 l:@ = [1.8]
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lenp Ve => \og (08)

PERSEVERANCE Solve each equation. Check your solutions.

36. log, 6 + logy x = logy 12

Jall ine o Bildlg ki b0 Wlalao JS o B bl
37. logy a + log, 8 = log, 24

M(}B\éx - *th}\m— oo oo - g 2y
X = 12 Bo = 24
F &
S s ... O guuft =% =
e Tt - (®)3s au 4@
hc’.?.m
ﬁ-m.*
38. log,, 18 — log, 3x = log;, 2 39. log; 100 — log, (v + 5) = log, 10
‘oo A = Yo4q 2 tao oo L1 fqb 10
o 3 5 9+s AN
l? " . \vwa N '_.2_
3z 4T 945 _ )
e \.j?__ e
—é- 3 =3 lo
—= @ /v/ ‘?J_%_ - '0-5
(R g
5= =
40. log, n = lﬂbq 27 + log, 36 41. 3 logy, %Io&)m 36 = logy X

| og 77 (‘\ lOﬁ 36

fms n -

i) d?, _!_ 7’ to |0 s
o P Nea [ 7393 BYY -\
\ﬂgi - \%\‘-r N 7 / S
ta0 [ % ) los x
W = TS
13
W — (\\O%\ g = —
. ¥ (e

21




HQ El.nLuni! s o ! LJ-HJ-\A-“ J-Qp E .IE httl]S:f/i.mEfmalhhﬂﬂk"EEN Qﬁt@x é https:/ft.me/a“laaam_&g
- : j > T T ekl 4= T 3
050-2509447 - pall yde gl pod - 50 5ld ‘é] iz ;‘h* P AT
) ) ‘J y (5-8)
10 | esdall @ioyle gllg udall poluwdl e dlaiduall polasd! 0 Slow) o7 401
6-5 (28-33)
Write each as a single logarithm.

5)3In2+2In4

Ssiie aiylig) ddpo § S Leo US s

6) 5In3—-21In9 7) 3lIn6+21In9 8) 3In5+4Inx
2 3
) P LT Y o ot o bl dint e
— ll'n.{‘_?:!s ‘-11) = 4 lan 3‘: = (Iﬂ (63;‘ 91) = In (‘;37-1‘)
(ot =h " T F_?__—"
= (ln 128 M = LY ={ln 17496 _Jln 25> s
4 -w
— In 2 ﬁ
it @‘"*
Write each as a single logarithm.

28. In125—2In5

29. 3In10 + 21n 100

Ssiie piyslég) dio & S las S sl

1 1
3 30.41n3—61n9
Y = =
:lh5—2\n5 ‘:;\‘ﬂll'?—t-\n\uc :‘r(n%_6lh(13—)
= 3lug 2 lug 1= 1n {togx\ozol__\_fxlg") = 4 \n-‘i-\’z b
= |\nzg] = \n ('u:}?&\l:!;) 1l \&
— \\n \Dq- =X
|
:Ll‘.;‘m (o] 3 8 \“(_i)
oo :\? L 3‘
@) 7in5+5mn2 32. 8Inx—4In5 33. 3In+2+41n3
i 3
= ?Tzl s e \\n’l. = \nxs = Ix SH - ln()(}) + In 3!’
- =3 \nz + 5 \\nl. = In _x'? = \n(lll‘ = |In }c‘ 3 ln B!
5" s P
:i_z \m_l __,1\“()3) = ln(x (8"
st 3 5 —
== \'n A L 8’)’-(
625 |
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Simplify each expression. " . .
0000 Ld i S Jo2
58 x(x — 3)(x + 6) 2 v2(y? + 3y + 2) e
o+ x—12 " 2y(y — Yy + 2)
1(1/0(M6? Wy+D (34%)
(< e+ 4) 2y(49-4) ( )
& Z (x+6) = Y (1)
z 4y B \:E &) —‘4)/)

2 - 92 -2

(x% — 16x + 64)(x +2)

15. 4 z.8
4(x + z)(x — 3) (x2 — 64)(x% — 6x — 16)
(x.-tﬂ()'—f!'/)(')é)bc——Z) _ (7’/@)( Z %) (x42)
4 (X +2)(%43) T (x4 8) (249 (22D
:(?":’?éﬁ/ E(zﬂ yex-2 | — (“/_\\“7
4 z +%
C‘\-—f—‘// p LL/
17 x%(x + 2)(x — 4) 18 3y(y — 8)(y* + 2y — 24)
" 6x(x? + x —20) T 15y2%(y? — 12y +32) s |
{
- 2 (= +z)(1/‘*) - 3%(5‘4)(3/()(\‘34.7
65 (<9 (33 5) 5"”?37‘(3/0(3/3)
- 2T x +2)
(% «5 B m
_ S
(-
- P U S (x —3)x+6) laase a8 o) X pud o> das at.uho“,L:;#.}+19
(x2 = 7x + 12)(x% — 36) )
F 3, -6 G 4,6 H —-6,6 C] -6, 3, 4,@
{:)1 A -Ll‘?_){')'l—‘_',(x\ =5 ‘ ¥ 3—::.[ A Ry > + L=n w - h s
= JL:@ #(-6) = |6
(2 =D (x-9)(2+8)(2—=6) = x-@l ] e
RO
B o)
Ob et
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Simplify each expression. By Lbid gl JS dﬂ
s By 3 _ g2
20, * 5x 145 21. zx 9x
28 + 3x — x xs —3x— 54

(e x D xF)

x (M/),

T 3 N o
=(2x22) ( 2-7)

(x4+6) 2<9)

x*-1x—28
5 13 fxn)(%

T

(x +4) <)

=

(x — 4)(x* + 2x — 48)
T (36 — x))(x2 +4x—32)

(A)LXA (/)

16 — ¢?
c2+c¢—20
(br T C)

28,

( g_,.;)kg/ (%< (/»/3)‘
oo ey

(€ —4)ce+5)

N 4% [ _ i_ (4+ <)
C+5S
T

sm sewe
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X 9 IV q
Proy= 2 (xe2)9(xx2) = =3 @;"ﬂ: =
Cot +3) (-39 PAREE e e 2
i I
O ) 3y (et — >
-1/ 1 1 Z b 1 x
(2« (x-3) (%A () -
aa, T j’—l aB. o [ =&
Sy A Do z L !| . =4
3 & =50 i (0| X v
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o s T
% Y sl ;
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4
v
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31. f(x) it lla JS S0

i

3. ol [ fa | | | A |

33.

b+ 502 + 20

fl) = £
X4 Be+ 15

-

]
:

(=]
bR

= Z=s ) P
i
= {8)_ —
Pead o ;l,g 0 3 «E»\ z
yol ] la |-y / < ‘ >
l l & lb,é’ Iq lﬁ) ‘/"1 Fy 1
5
<
( —4)(.7(2—4) X —-1==
32. f(X)': 2_ PC-:Y?:_J 2
X 6x + 8 5
Pezy o Gefi) (2a )G ) - 5
(x.%f(.y/‘*) 2 A% “
( \-»\,\ dvail (b [ ; i
P - X4 ) , w2 x ol b W ) x
\_’_V . C’z-ftt) g 2
(4.€) -
I3
x + 5)(x* &)2x — 3 X uhse
33. f(x):( sl 2 5 z =2 y 7
x2 4+8x + 15 e 2
Loy = (M) CX ”‘}4/) A+5== <
(1_45) (x475) x5 It
IV ol r
m Wt=d H=+-5 / i - 7
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34. flx) 3x + 6x° + 3x2 [——
x2+2x+1

Peun - 3xt (x* vz x\)
Cx 1)+ 1)

el p s s % https://.me/mthbookIIGEN gﬁ‘.@ﬁ _

A
fu.\; 311&_47()/«\) \x.+l;° 3“
CBAD) () \ o \:‘_y
(o 0 | . I
SR g T e o
\/\—% | Kl
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£
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Determine whether each sequence is geometric. Write yesorno. 9| ﬂ ﬂ' ‘Tﬁuﬂ}ﬂ oo a.!.ll.i.?.o gﬁ -l |i| VT

S
10) -8, -5, -1 4, ... 11) £ 125365108, ...
$ g mn ol ~ R ey (2 3¢ _ W8 m 2~
s sl g “w T e 3< o 3
=) | (T OB . a0 & 5
. 1] L-_l -
i g
NN W, G|
12) 27,9 31, ... 13) 7°14 2128, ..
B . el R 1. = i o 20 oy R ~
25 9 3 3 ( R 9 U g¢ T ot
- | L__ = n_ - . 1] e A =
on . LG s
e 4
i it | 2 g et giwpi(a.!..m)pi el ot b el JS S 3] b0 9.
ENTCN —
18) 5,1,7.3,9, ... 19) 200, -100, 50, -25, ...
-5 4 3t £ 3-3 4+ 9-3 ~ Lo o) —es ., S8 ) - -a& L [C5.8) R
T I = _'Z_oo - -law So e :
LR ) e B e il 2 = e, [T Mool Sl TIPS 2
& T T & 3% =3 ) : Y‘—-—-——""“" - =
20) 12, 16,20, 24, ... @36©
16 20-16 24 -7 ~ ék"%
AL o e = -0 = b it
) | ; A
'\_C-\ = c_‘_..-'l..' : > N oa L‘.-.'
a\_____; r v F -l
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/_ St (20-31)
an= a.‘-§- ﬂn—l)c!l
Write an equation for the nth term of each arithmetic sequence. & el el el ey Sl giﬂ‘ cad] ddibid waial
a, Gz a3 Qo
3) 13,19, 25, ... e 4) as=-12, d=-4
B ity anlogas)yd a, - 13 Qn = a 1-C5|q—t!d 1l o a, - [&)
Op= 13 o (n-=-1) (£) d -19-13:-04 =2 = o, (g NCu)la,=a4m)d
/
oy =13 ( b6 -2 - = /4 ah-q+(n-:}(-)'

/—-.._._._.a-\_/:-\"\_/é“\
w = —1" 407
20. 35, 46;/== 21. 31, 17, 3=

a.ﬁ = O, o (n—g\}r‘ d - 44£-38 \ 4-23-1F
Q.'..l = ?-‘-g + (n :}(_n c‘ = @ c’. = —\4
fh = 24 - Ud 3 1 |'J

g = a4 13
22. a9=@5) d = -3 . g1 29 DO

d= -3

B - a, (as¥d

- 5 Pilocs

£

4% = 0, 4 (9. ()] 4, a, e ln)d]| 21 = 8 (30D o Gutn(sy
43 = a, —24 By=b%+ W-)3) 2y - a4, o 30 Ay > =9+ 5n-35

<
45 42M4- &, by = 69-3n +3 A, = 2\ =23p (a4, 'c 5n — 14)
: y \V"!
(¢9 = a) (apo--int i) a,--9

| E Q,= —1§-5S
24.a, =12, d= 0.25 &, -[izz)| 25. as =15, d= 45 °

Qh—_ﬂl*(n_t;é ‘tlﬁhlll#'n_‘lé Q" = ‘:"I**n"slé 9 —cli#ln_llé
2 -, 4 (a-fo25)] Ay=0254 (n=1) (029 - ¥ .5 Qpz =165 ¢ () (¥-5)
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Write an equation for the nth term of each arithmetic sequence.

i it JS (g ] Al i S

5 @iz =33
26.9, 2, =5, .. 6,=@ 27.a5 =22, d=9 ‘
7. 5] 2-9.1--?
Qiﬁ'gl‘ﬁ‘(‘" “\a" = Q,= = —a-n—-——%—«-—ﬁﬂ-:l)—&—
Q=9+ Cn-)(-3) a, - 6 -1 B2 =234 Cina (9)
o - . P S ’Z?_-a“_..ug ﬂn——?_'§+9n e
k"“ \—/\_"\/
A s t=24)

28. ag = -8, d= -2

29.a5=7,d= %

g =0, o (§-N(=2)0,. &1(n-N\(-=2) A_- o, 4 (52-9(%) a o -3, .)(2_3
x - |42 T L |5 X L T v 3 3
-—g =&, —y Ol = b =2 2 T = A\ 28 G = =73 2 <
3 3 5 3
a, =~ - ¥ +\Y (A = —2w 4#%) a, > 3 .28 o L . a
' V\AJ 3 g = b“ 3
o, =1 AJ 6 . 13 G 7 2
Y — | Il 3 o TR --'.EV\ = el
| % T
. 4 1 g
30,12, —17, -22, .. “* ¥ |31 ay=-%, d= 5
Az._\'l--(-il}
a Do {oated d -G9S R R = ”
j—
Q, = -2 o GY(35) Q. .0, AENE 3)| e -‘35 o Ora) €2 )
(o o 12 5w o5 -4 _a | a_ -2 .y, 0
5 = — L S T 2
e 5 -Cw -3 Qe =N a . 3
" ) . = s Sw vy
a. - (-9
R
"t d i
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)
o= ot
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250 ¢ 2 o dewaoin ‘bl.wgi A oo

Ap = g T dosin 3tz Ay doill sal

Rz @, 0 |0t ¢48
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‘"5""“'0; \& 'Sa'?.Su']?Co / az:_' -_'_)__\-5 T-;L““-\z‘;
4 Y=g
v =6 = 2 =lb 50 =250 _128a J 1260 = 2 ¥V ¥ T s ¥ e
_2_ % WY=-S
Qa, Qg .
Ob’_l_"* , —3(2 51230504;&._3_....:_\..& _loL.ule_uJ'.\;.3
- |
Ayp-a.r :_ﬁ_‘r%- l02Y
£ -\ =
D5, & . NC-TAL LY. . S ag- 0.5 r r-  °Jiozy
5
512. =08 Y Y= &4
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